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1- Each question has four possible answers, Tick {_\f ) the correct answer, (20}
I | The number 13 is known as; |
—_ | | —— - : 4
A | Rational number | B, Prime number | C hrzational ‘ Tmaginary l
| | number number
If @ is cube root of unity and il,m, @ {is a group under multiplication then inverse of
; i p
| @”is; o
E : l 2 l
A 1 ' B Z c ] @ D - @'
| | R
{3 | If A is a matrix of ordr 3x2 then order of matrix A'4 is
i ) o [ 1 ]
t | A 2x3 B Ix2 ‘ C 33 D 2x2
| % -
4 | If A is singular matrix then A will be;
I S : S . |
A 0 B 1 | C 4 D 2 ]
| ' |
|
5 | If oz, Bare the roots of x* —4x+3=0then (@ v ) = .
e - =
| A { 16 B 4 CT -4 'J-n 3
I I i
b
6 @ Four 4™ roots of 16 are;
A ‘ +4,+4i B 147 C T 2,428 ul D! +16,+16i
. B W _ | ] ]
7 | Partial fraction of - 11 Twill be of the form;
x' 4.
[ 4B || 4 B b4 BescC A Be+C
A Sl | B _._+._2__.- | - + ?___ e
[ X +1 | x+1 x-x+l | | x+l X +x+1 x+] x'-x+l
8 | The series 1+2x+4x"+8x*+...will converge only if;
ji : ...i - T ! l
A ]x<5 B 1x]>-; ‘C[ x>1 |D Ix>2
| Pl |
L | .
9 | Harmonic mean between 3 and 7 is;
: : — _ .
. ; 21 1 l | 5
A ‘ 21 \ B = g 5 D =
Z ! . I
1] | A fair coin is tossed 3 times then probability of getting 3 tails is;
= - - —_— TS - T i ——r
| 3 | | | | i
1 C = D —
* 8 j ° L 8 2
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11 | A die is rolled once then probability of getting even number of dots is;
o 1 " 1 1 :
LA = B = g — ) -
i 2 3 6 4
12 | Sum of binomial co-efficient in the expansion of (@ +5) is ;
[ A 16 B 3 c 48 D 64
: i
i ]
13 | The middle term in the expansion of (x --—y}'jwill be;
|
| | |
LA 6" B o s 7™ D | 8
14 | The angie in standard position whose terminal arm lies on x-axis or y-axis is called;
A ‘ Acute angle 'i B Quz:i;n:tal i C | General angle | D Obtuse angle
i i ;
3 |
15| ool B ) |
2 )
T |
A Coté ‘ B ~Corf C ~tané P D tané
| ! I
16 | The range of the function y = Sinx iss
A -l=y<i ' B -~lzy=g0 C 0<y<l D TS}JgE
| i
i |
17 1 In AABC if m< B=90" then law of cosines will become;
A a* =5 +c? B bP=a'+ct [ C i F=a’+b® 1 D br=ag-¢f
18 | The circle which passes through the vertices of triangle is called;
A e-circle B In-cirele C Circum circle ;| D Point circle
19 ,} If y = cotxis principal cotangent function then;
—Dar
A —REXST B —r<x<l C REVLIR ] 95 O<x<unm
3
20 | If Sindx= \? and 0 < x < 7 then x will be
T o T T o2n
A == LB == C == D - =
& 3 6 4 43 i3

(The End)
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ATHEMATICS . 019/1 Roll. No.
ZAPER : PART -1 INTERMEDIATE
/MARKS: 80
TIME : 2:30 Hours (SUBJECTIVE PART)
Note:- Attempt any TWENTY FIVE (25) short questions in all selecting eight from Q. 2 and Q.
3 each and nine from Q. 4. (25x2=50)
SECTION -1
2- Write short answers of any cight questions. (2x8=16)
1 ; [ERT
i | Define complex number. 2 Expresfs the complex number 3 +/in
 polar form.
, { Find the multiplicative inverse of the | Convert the laws (4 B) = 4'U B'and
complex pumber —3 -3/ (4u B)' = A’ ~ B'in logical form.
5 | Define on-to function. 6 Cu“s‘delj tl?e s‘?t Sl -Setup
| the multiplication table.
i . < =
7 | Convert the equation x* —x* ~6=0 | § | Prove that | w0’ =1.
in quadratic form.
Di . ‘ fth If Aand B are matri_ces of same order
g m:u?s t (; naturcqo roots of the 10 | then explain why in general
equation x +2x+3=0. . (A+B)2¢A2-|-ZAB+Bl
1 2 -3
- _ i 3 -1
1t M4 ! 2 [Femnad miner . 12 | Find inverse of the matrix ’-
-2 -2 1 . - 2 1
and co-factor of -3. o Nt N )
3- Whrite short answers of any cight questions. _ (2x8=16)
1 | What are partial fractions? 2 ]Jlffer.ennate t‘petwe‘en condivional
equation and identity.
h2 . 91 Determine whether -19 is the term of
© 3| Write identity for ——~ 4 |AP
(x+2) ©117,13,9,...ornot.

' 8
Find the value of rif a, = = and.
5 | Insert two G.Ms between 2 and 16. 6 :

a, = o e
N 729
, If 5 is the harmonic mean between 2 8 If the nth term of the AP is 3n-1 find
and a, find a. AP

A die is rolled. What is the

o | probability that the dots on the top W State the principle of mathematical

are greater than 4? induction.
4y | Calculate (2.02)' by binomial . Prove that for n =3, 4 the statement

theorem. | 5" — 2" is divisible by 3, is true or false.

P.T.O
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4 Write short answers of any nine questions. . 2x9=18)
1 | Define Radian. _| 2 { Convert 54’45 into radians.
. 3 If Sind — —L,— and the terminal arm 4 | If . 3,7 are the angles.nfa triangle
) ABC, then prove that Sin(a + )= Siny

of the angle is not in quad. I find
value of Cos6 ?

5 | Prove that 6 2tand
Sin28 =——-
ta.n(45” + A)tan(45” -A);l Show that Sin 1+ tan’ @
7 | Write the Domain and Range of 8 | A Vertical Pole is 8m high and the
tan x length of its shadew is 6m. What is the
angle of elevation of the sun at that
moment?

% | In -t.riél'lgl.e. ABC if f=60", ¥ :_1_5;? 10 | Find « by uéing h_ﬁlf_ﬁﬁg_le formula
b=V Find ¢ when a=283, b=317, ¢=428.

11

o h 12 Deﬁne tri tri ation.
Find the value of Cos"(- JQ-J e g Gl

13 | Solve the equation 1+ cosx =0

SECTION - 11

Note:- Attempt any three questions. (10 x 3 = 30)
.l Construct truth table for the following statement (05)
| & | ~(p—=>q)(pA~q) '
! | If {,m,n are pth, qth and rth terms of an A.P, then show that
b _ . (05)
Kg-r)+mr-p)+n(p-q)=0
;; 1 x-143 _
i a [Findxif -1 x+1 2=0 (05)
6 ' 2 =2 x
- b | Provefrom first principle that "p_ <" 'p +r. p . (05)
a | Show that the roots of x* + (mx+c¢)’ = &’ will be equal, if ¢* = a*(1 + m?) (0%)
NI Use mathematical induction to prove
b 4 L. s 1 B (05)
2x5 5x8 8&x11 7 (Ba-1)(3n+2) 2(3n+2) '
; mi+1 - ..
1 If Cosec@=-"- - and m>0 (0 <@ < —), Find the values of the remaining &
. 2m 2 (05)
8 | trigonometric ratios. o |
b Reduce Sin'Q to an expression invelving only function of multiples of & (05)
i raised to the first power.
The area of triangle is 121.34. If & =32°15, f = 6537 then find side ¢ and (05)
a
angle » : ) :
9 | S O I s e ]
{ b |Provethat Sin™ —=+cot”3=" (05)
| V5 4 ]

{The End)



